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20201 &= M| = of 2HTE Al A

of AR F723] (ch9l 1)
e IR NESIEXC )
49w | An Avgs  gagqus | S Rt g
2. [2]548% 0 1,200)  -1,200
EEREE 0 1,200 1,200 f;g‘%j(;glégi;‘i’ﬂﬁq'Eﬂia}qﬁ) : ~1,200,000
3. (18G5 2,680 6,800| 4,120
1. A& 3] 2,680 6,800  -4,120| ] WAREZEAZEAE] ¢ -3,0009 %1007 = -300,000
A AFE 1 -320,0009 #3 0] 23] = -1,920,000
HgA e 5r] 0 -9,5009 %1007 #23]= -1,900,000
3.5o1e| 2 E 17,310 17,310 0
1[5t &% 4,810 4,810 0
1.+959 3,860 3,860 0
2. W5 EqH 950 950 0
2. [x]SnATExEHE 500 500 0
1. %89 500 500 0
3. [2]dAsEAG St 7157 12,000 12,000 0
1. Yuksegn) 1,430 1,600 -170| 7158 5 0 -170,0009) #13]= -170,000
2. 2979 3,550 3,550 0
3 H[E 4] 7,020 6,850 170 71 €} : 30,0009 #1%= 30,000
WEREQ] 140,000 1= 140,000
4. Q2P 631 1,000 -369
L[2IREAI LS 631 1,000 -369
1. a9 631 1,000 -369| A Z YA H] 1 369,000 «13]= -369,000
4R g 140,524 90,154| 50,370
1,935 9 130,624 80,254 50,370
1.9 335w 1,490 1,940 -450
LIz]IE71A 2% 1,490 1,940 -450
1.9 940 940 0
2. WS- 550 1,000 =450 (7212 A H] © -10,000 459 = -450,000
2. 52w 62,506 33,219 29,287
LI[z]EEnded 13,040 13,040 0
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1.717A1 2 19173 H) 156 840 -684 | th A1 F A H] 1 -684,000= -684,000
2. W59 12,884 12,200 684 |7F21H] 1 -900,000¢= -900,000
WA TAZH] ¢ 158,4009x10F= 1,584,000
2. [Z]EEATALES 38,083 17,436 20,647
QA 9Z=)ol AN|E 9] %o
L3717 k4 219172 w] 35,310( 16,114 19,196 iS%ﬁL—ZT)LL IS+ 1,536,50081+273 9,219,000
(AP _253)0A4) 5 & 1,248,6009+27 7,492,000
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(BHEH2F)EAA-T ¢ 1,242,1209%2 2.485.000
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ez 22 & 7] RO -
sAAuAres | 2,773 1,322 1451 (B RAZRMHRATIRREES 1 237,300 712,000
Ax3Y=
(BEH_2F) AR 7| Fa 123,100
Ryt 739,000
JERIEADNFETEY 2,743 2,743 0
1.2959 160 160 0
2. 5L 2,583 2,583 0
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(BHH2F M ETI TG Q8F) -
2.\ FEQn 7,650 0 7,650 7,650,000
179 850,000 +9F=
3 A A Tl 66,628 45,095 21,533
LIF]FA9 W AgA &9 35,878 15,995 19,883
AAx 2= 7|7 A L d el An] .
1. 7)1 74l Y Q1 A 1) 33,074 14,593 18,481 (s L-ZTVLLH]‘“LL ] 16,167,000
2,694,4009 69 =
A2 ZV 71 7FA el AN
A HXd_ZTVLLzﬂLALL ] 2,004,000
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‘33:
(AHA_23) 71 A AR A R F 7] B8
2. 717 LW A R 2,804 1,402 1,402 1,402,000
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1. g uk8-1] 4,140 4,140 0|33l 2F$-8m] @ -2,400,0009 %138} 7]= -2,400,000
Z&molth<=a] ¢ 2,400,0009) #14)= 2,400,000
2.¢959 9,120 9,120 0
3.1l Hg 9 17,490 15,840 1,650
AeAd 9Z=)ak A 2 A 0l : 2]
138 &) 17,490| 15,840 1,650 (8 BE2FIkEALIART 30,0009 1,650,000
*11—6—*5;@]:
2.52% 9,900 9,900 0
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LIx]=A 7Y 6,900 6,900 0
1. 0o 2,300 2,300 0
2. =AM 94| 4,600 4,600 0
2. [ ] 8 A 3,000 3,000 0
1. a&2-ogn) 3,000 3,000 0
5.158% A9 60,354| 51,244 9,110
1.aFgs 49 8,322 8,412 -90
JRRTA I PN S o] 8,322 8,412 -90
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2. &) 780 1,700 —%oij?mg{ﬂ%g%ig%):ﬂmﬁw% ~160,000
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AET] 1 —240,0009%13)= -240,000
2. [2]0S5EETH 400 400 0
1. &2 v 400 400 0
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1. 0599 2,450 2,450 0
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1. 30590 162 162 0
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AR LG EF 1 -472,000913]= -472,000
FAA 2021d 019 27 114 428 40% 17 Aot eugH itz e st




20201 &= M| = of 2HTE Al A

of AR F723] (ch9l 1)
A+ AR | A" | ¥@ .
A&7 =(9)
49w | An Avgs  gagqus | S Rt g
2.1 15,515 15,023 492 | A1 ETS (BFAE9]22F) ¢ 492,000 x1tH= 492,000
2.8t Lo 1,500 2,000 -500
1. (]38t Zd o 1,500 2,000 =500
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SN e e 300 300 0
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1.[F3] g R sl | 11,496 7,796 3,700
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1. A& 5,596 6,796 -1,200| ZEEEY : -100,0009x123]= -1,200,000
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1.9]E 74 H] 10,800 10,800 0
2. [Z]PCTH<) 7,936 1,936 6,000
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3 AAFAT-TR AN 3,000 3,000 0
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3. [=]aFH-E9 6,810 6,510 300
1. kg9 1,300 1,000 300 | AHFE-35+9) ¢ 50,0009 %65 = 300,000
2.94] 4,760 4,760 0
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2. HARALNEES 12,219 10,790 1,429
1LY 3Fas 2 AAEHE 5,090 5,840 -750
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17T 8T 1,100 1,100 0
2. [F 1AL AEAZH A 840 1,640 -800
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2.93H] 260 960 =700 | T ] Z7FeH] © -50,0009x143]= -700,000
4. [F1(EA) 721937 F el AH(22}) 140 140 0
1.8 B ) 140 140 0
5. [F1(EF2) Z 21903 A 51 BLA E1280(3%F) 1,250 0
1.3 EA] 1 1,250 1,250 0
6. [F1(F2)Z 21903 A5 1] Bl A B50B0(4 %)) 0 2,050
1.3 EA] 1 2,050 0 2,050 (B HEH_25)WIERE 50,0009 x14r= 50,000
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7. F1(EA) AR A = U 198heE 43t 0 1,600
18959 1,600 0 1,600 fﬁf@izi AL 1,600,000
8. [F1(EFA)ZE 19t & FTYrRBAL) 0 29
1.3 52 1) 29 0 29| (A HA 253D EFE ¢ 29,0009 10= 29,000
2. 714 A fX 77,487 67,514 9,973
1. 3F A g m] A 77,487 67,514 9,973
1.[2]3F8a2AAT = 29,409 29,409 0
1A% 7 19,589 19,589 0
2.3 rER 2,520 2,520 0
3T aT 7,300 7,300 0
2. [ZIA A dure 16,942 7,469 9,473
1. QukEgn) 16,342 6,869 9,473 ZEFFE ¢ 50,0009+93]= 450,000
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3. [Z]1334 #e 1,500 1,000 500
1. Yuksegn) 1,500 1,000 500|344 22 RE 100,000 #5%F= 500,000
4. [z]2H#g 2,860 2,860 0
1. dnkpgn) 2,860 2,860 0
5.[Z]14 a0 18,776 18,776 0
1.717kA1 2 1 7 18,160 16,350 1,810 7185 5 : 149,000 #1= 149,000
HAHYF ¢ 1,661,000 «14= 1,661,000
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6. [Z]1 0534 ) HAY 8,000 8,000 0
1. dnkpgn) 8,000 8,000 0
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LIx]ag 3] 1,240 1,240 0
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2. 4Rk Fx] 1,000 1,000 0
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